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he figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Hlustrate the answers wherever necessary.

Answer all questions.

1. What do you mean by curriculum? Describe the
. importance of curriculum development in Educational
| Institution. 3+12

: Or
‘ What is research findings ? Describe the factors affecting

curriculum: 4+11

2| What is socxahzatxon? Describe about sequence and
operation in curriculum. 3+12

| | o
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Describe the different steps in curriculum construction.
15

3. Describe the basic principal of curriculum construction.
15

Or

Enlist the national level policies of curriculum design.
Describe the role of Physical Education teacher to
implement the curriculum design in school. 7+8

4. Write short notes {any Vtwo) - 2X7%
(a) Field and Laboratory.
{b) Teaching Practice.
{(c) Laboratory and other facilities.
{d) Relationship of ‘Physical Education and Recreation.

5. Answer any ten questions : ' 10x1

(a) The depth of a swimming pool is :

(i) 2-00 mt. ; "~ (ii) 1-50 mt ;
(iii) 1-40 mt (iv) 1-80 mt.
(b} In which Olympic female were participated in ﬁrst-
time ?
(i) 1920 : (i) 1980 ;
(iii) 1896 ; {iv) 1900,
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(¢} The full form of CDR is :
| {i) Central Distance Radius ; -
| (ii) Curve Distance Radius ;
(iii) Curve Device Radius ; |
(iv) None of these. |
/() In which event the diagonal axis is used.
(i) 100 mt ; . (i) 200 mt ;
(iii) 400 mt ; {iv} None of these.
'{¢) The width of high jump pit is :
{i) 2 mt ; | {ii) 3 mt ;

(iii) 4 mt ; (iv) 5 mt.

(f The runway of long jump is :

() 30 mt ; (i) 35 mt ;
| (iii) 40 mt ; ({iv) 45 mt.
.(g) Which one is the component of skill related Physical
! fitness ?
() Speed; (i) Agility ;|

(iii) Flexibility ; (iv) Balance.
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(h) The marking wall of Mc Donald soccer test is :
{i) 30 ft x 11% ft ; {ii) 25 ft x 11% ft ;
(iii) 25 ft x I1_2‘/: ft ; (iv]) 20 ft x 12% ft.
(i} The duration of modern olympic is : |
(i) 16 days ; ' {ii} 15 days ;
{iii) 12 days ; _ (iv) 10 days.
() Which acid is secreted from humap stomach ?
(i) HCI ; {ii) H,S0, ;
{iii) HNO, ; (iv) None of these.

(k) In which formula you will select to calculate the full
stagger in standard track?

(i) {win-1) - -10} ; (ii) 27 {w(n-1) - -10} ;
{iii} 27 {w(n-1)} ; (iv) = {w{n-1)}.
() The length of substitution line in Volleyball field is :
(i} 1-50 mt ; (ii) 3-00 mt ;

(iif) 6-00 mt ; (iv) 1.75 mt.
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(F) ARAER or 1o TT—
| (i) 2-00 M ; (ii) >-ao fiibF ;
(iii) 3-80 B ; (iv) >¥o fiib)

(@) W wWEARArE AEAER dew Serent e
(i) Ss%k0; (ii) ssvo ;

(i{) WY, (iv} Yooy
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| () ovar Rrde afomt ; (i) 16 vt el ;
(iii) wéf%‘sfiﬁ @& ;  (iv) FTABR A

- @) cﬁmmmw{wmwrﬂe

@) seo fBH; (i) 20 B0 ;
| (iii) 8oo fibE ; (iv) CIICAGR ;!
(&) Rw Py voy T

| (i) & fom= ;5 (ii) © B ;
(idi) 8 o ; (iv) ¢ TRBr=

. ®) mmmmw— | |

,1 (i) 0o flH; (ii) oe 01 ;

\! (iii) 80 ﬁmq‘;  {iv) 8¢ BRI

| (®) Wl FARFS ARRF THS ToAWH o ?

' ) o (i) Pt ;

| (iii) it ; (iv) SFERY |
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(&) WEreHrs 7ok wfowe Bire eaies Nv @—

(i) wo F& X 55*:“ 6 ; (ii) ¢ Fo X nf 5 ;

(iii) ¢ F5 X 53T F; (iv) 0 F6 ><>q-:-

@) gl et (sipi-a Ffere 2o —

(i) o i ; (ii) >e = ;
(i) & TR (iv) So =1
(@) WL ATIRTS @R ke Fegs e

FH!

) WeFREeenhe ; (i) RSk wike ;

(iti) =i =0ifTs ; (iv) GGG
(%) oz Brors e +f e Aetaz s =—

(i) {w(n-1) - -10} ; (ii) 27 {w(n-1) - -10} ;
(iii) 27 fwin-1)} ; (iv) ={w(n-1)}.
(8) T WY A AR TG T
(i) s-eo BHR ; (if) v-00 f3%H ;
(iii) w00 fi5E ; {ivy -a¢ fibr)
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